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Introduction

This contribution gives an example how the 1.28Mcps option of TDD can be included in the tabular format of [2]. 

It is proposed to include the example described in this document in section 13.3.4 of TR 25.834.
13.3.4  IE change example for 1.28Mcps TDD
It has been decided to distinguish the differences of FDD and TDD with the help of the CHOICE mode notation as described in [2] and [3]. This notation is suitable to both outline the desired commonalties between both modes and shows also the differences in an easy-to-read manner.
In order to include information elements that are specific for 1.28Mcps TDD into the existing 25.331 a similar principle could be used. An example how the differences between 1.28 Mcps TDD and 1.28 Mcps TDD could be shown is given in the table below. 

10.3.6.49
Primary CCPCH info

Information Element/Group name
Need
Multi
Type and reference
Semantics description

CHOICE mode
MP




>FDD





>>TX Diversity indicator
MD

Boolean
Default value is "TRUE"

>TDD





>>CHOICE TDD mode





>>>3.84Mcps





>>>>CHOICE SyncCase
OP




>>>>>Sync Case 1





>>>>>>Timeslot
MP

Integer (0...14)
PCCPCH timeslot


>>>>>Sync Case 2





>>>>>>Timeslot
MP

Integer(0..6)


>>>1.28Mcps


Null
(No data)

>>Cell parameters ID
OP

Integer (0...127)
The Cell parameters ID is described in 25.223.

>>Block STTD indicator
MD

Block STTD indicator 10.3.6.5
Default value is "TRUE" The usage of Block STTD is currently under discussion in WG1

Example for inclusion of 1.28 Mcps TDD in tabular format

The principles how 1.28 Mcps TDD option can be included in the tabular format of [2] have been described. It is proposed to apply a notation as shown in the above example in order to represent 1.28 Mcps TDD in [2] in R2000. 
